FAZZIO0 500L300

2H . X2

DRGCAEAUO@AAHN CC
INSTRUCTION MANUAL / NOTICE DE MONTAGE / MONTAGEANLEITUNG / MANUAL DE MONTAJE / MANUAL DE MONTAGEM

/ MANUALE DI MONTAGGIO / MONTAGEHANDLEIDING / NSTRUKCJA MONTAZU / KAYTTOOHJEET / BRUKSANVISNING /
BRUGSANVISNING



CAZ=BOO




CAZ=BOO

X6 '.x24 XL
%
A1-51 Am-58 Am-60
M10x70 ST4.2x13 M8x65

X6

X4 X2 X3
NG ‘iQ5 3
Am-61 Am-62 Am-66 Am-64
M5x10 M8x50 M6x16 10x10mm

\52 X8 X8 X8
o O @
Am-52 — Am-53 Am-55 Am-56
M8 M8 M8 M8
Z:i§:§£3 <§faX1
A5-H28 Zj-09

4830 mm 165 mm

A5-W25 A5-H26 Am5-K37
4810 mm 4810mm 1641mm
X1 x1 X3




CAZ=BOO

1500mm X3




CAZ=BOO

Am5-KO01
1645 mm

%
Am5-33
400 mm
+ . +
4 E + +
Am5-V.2
4850 mm




CAZ=BOO

Am5-K6 Am5-K6b Am5-K6a Am5-34
1665mm 1618mm 1640mm 400mm
X1 X1 X1 X2

&

Am5-K19 Am5-K19a Am5-K19b Am5-35
1618 mm 1618mm 1618 mm 400 mm
X1 x1 X1 X2

()



CAZ=BOO

~~_Am5-K6a
A5-H28

-

A5-H28 —
A5-H28,~

A5-A02a
A1-A08 [
ARE .

¥ & O\Al-AG
Z

A5-A02b
A1-A08 ) £
P

Am5-K01 = A ~Am3-33 \

A5-A02b > 7j-09
A1-A08 S &
<< Am5-33 Am5-35
i’z\ P o —\/ ~._Am5-K19a
7

SN Ams-35 /
@a DR =AMV AR _ . Am5-K19b
\fﬁoz i /
i A8
J 0j-03 AR = amsk19
|
U

~_A1-27




CAZ=BOO

A5-A02b

Am5-V1 1 Am-62

~ o

Z2 | 1| Am-56 2
As-ao20l £ |1 | Am-ss | (D)

o ©

Am5-33

Am-60 1 Am-53




CAZ=BOO

Am5-V2

A5-A02b

Am5-33

. 1 | Am-62

AmS5-33 1 | Am-56

SIS

yd
&

As-po2b 6 | 1 | Am-55
g

Am-60 1 | Am-53

24]
A5-A02b
A5-A02L
e
1] L e |




CAZ=BOO

Am5-KO1

AmS5-KOT 1 | Am-56
Am-62 1| Am-55 | (D)
Am-60 1 | Am-53 @
3.1] AmS5-KO1

~ < Am-55
© [ Am-62
Am-60 1




CAZ=BOO

Am5-K37




CAZ=BOO

5.3

500mm___

-
e

\




CAZ=BOO

Am-58 j

&
Am5-K6| | 1
Am5-34] & | 1
Am-58 | 5 | 4
61| Am5-34 6.2] 63] Am5-34
N Am5-34
- \NAmb5-K6 IF m




CAZZBOO

frme fren

(e

Am5-34

PR

/
R 1
G

Am-58

N

71 | |
7.1] Ams-Kea, 7.2] —

{‘\‘ , #
A

G

x1

()



CAZ=BOO

\AmS-KGa

\Am5-K6

8.1| Am5-K6b
8.1] Am5-Keb

Am5-K6 [x2]

83|  Am5-K6a

bl

é iAmS-KGb m

Am5-K6b

N

Am-58




CAZ=BOO

2‘ ﬂ/ Am5-K6a

N As-H2g | L=,
Am@ NN A5-H28/ [\A5-W25 %
> (x| | A5-W25 /




CAZ=BOO

Am-64
10.3

Am5-K6a

A5-W25

Am-64 | B |1




CAZ=BOO

A5-A02

Dj-01

Am-66 | B

S B
7~
‘\
) /\
(Q\
|\ W&
= X
= N s

// \A5-A02

x1

11.3




A5-A02a

121

A5-A02a

CAZ=BOO

A5-A02a

W A1-A04

@@




CAZ=BOO

Am5-K37

13.3/
&
9\\ Dj-02 | &
\A5-A02 Am5-K37|
Am-61
13.1 A5-A02b| [13:2 13.3




CAZ=BOO

14.2 T

Am5-K37

QS Dj-02 | & | 1

Am5-K37| ~ | 1




CAZ=BOO

Am-58
Am5-35

Am5-K19a
Am5-K19a / 1
Am5-35 / 1
%
am-58 | @ |2
15.1 15.2 1
Am5-35 Am5-35 Am-58

\Am5-K19a[x1 |

\Am5-K19ar,

%

(=)




CAZ=BOO

Am5-K19 / 1
Am5-35 / 1
04
Am-58 \@ 2
EI 16.2 16.3

Am5-K19 Am.35
/S _
/‘7 C—— - - =~ Am-58

Cws ey %




CAZ=BOO

Am5-K19

Am5-K19b ~ Am-58
S

Am5-K19a

Am5-K19b

\}aAms 35
Am5-K19/ y*
73

Am5-K19b

Am5-35 /Z
T\

e
,/'/{'

Am5-K19a

Am-58

\Am5-K19a[7

(=)



CAZ=BOO




CAZ=BOO

~._Am5-K19a
~._Am5-K19b

19.1

~._Am5-K19

191 a5 25 19.2

A5-H28
ﬁ 5Am5-K19a ’7




CAZ=BOO




CAZ=BOO

A5-H28

A5-H26

A5-H26

A5-H28

N
=y
N

211 ps.Hoe 213
N

Z
AS-H287 Baf | Ba,




CAZ=BOO

Am5-K19a

Am5-K19b

22.1

Am5-K19

Am5-H26

\A5-H26 x1




CAZ=BOO

23.1 | 3.2

? N Am-64 | & | 2
U am-22 | {P |1

/ \Am5-K19a
x1 x1 Am-23 @ 1




CAZ=BOO




CAZ=BOO




CAZ=BOO




CAZ=BOO




CAZ=BOO

26.2

26.3

26.4




CAZ=BOO

Zj-09

27.3

50mm

[ Hol

x1




A1-27

CAZ=BOO

A1-27 |— 1 1
Dj-03 | B> | 1
Dj-04 S 1




CAZ=BOO




CAZ=BOO




CAZ=BOO




CAZ=BOO




CAZ=BOO




CAZ=BOO

230V




CAZ=BOO




CAZ=BOO




CAZ=BOO

29.2

,,,,,,




CAZ=BOO




CAZ=BOO




